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il GENERAL INSTRUCTIONS TO THE EXAMINEES : ?ﬁ

2) woft e e FfEE E |

All the questions are compulsory.

(3) eI W 1 I &I TS IR -Yfereht d € ford |

Write the answer to each question in the given answer book only.

CONFIDENTIAL

(4) T oAl § Tt T €, 3wl % IR ek -\ # ford |
For questions having more than one part, the answers to those parts are to be wriucﬁ

e together in continuity.
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(5) w-w%%ﬁaaﬁﬁmﬁwﬁ%@mﬁg&/m/ﬁﬁﬂmgﬁw%ﬁw%mﬁ
' ' |
If there is any error / difference / contradiction in Hindi & English versions of the

question paper, the question of Hindi version should be treated valid.

(6) T I A A S smw e | | %
Write down the serial number of the question before attempting it.
(7) Tl T 3 AR AR 2 |

Weightage of marks for the question is as follows :

@ue-H (A) | 1(Gtox),2t011=20 | 71 -
are-4 (B) 1210185005 | 2 %
e wener | ‘
Gus-g (D) 241025 =2 , 5 N

Gus-7 (E) 261028 =3 6 18 |
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U - 3
SECTION - A
1. e fed m sgeEmTerss w3 IR, IO gt § fafas —

Write the answers to the given multiple choice questions in the answer book —

(i) A 1 Ffes Te & oEs & -

- () I Wew (%) ufe
(®) 3N (?) =@
The writer of the book ‘A Theory of Justice’, is —
(A) John Rawls (B) Agquinas
(C) Ebenstien (D) Hume 1

(i) TR FHTSITRTT i Helsem SAE H T ¥ e -

(37) & BeHA (%) fred=m

(m) ot gst (8) it g

The main political thinker who explain ‘Political Socialization’ at first, is —

(A) Herbert Hyman (B) Devid Easton

(C) Sidney Verba (D) Lucian Pye 1

(iii) Sty wifem 3 @ v o wrfies - anhis = B sraen HI E R, 9w
o @omamoPY
@) s O F Rl @™
The part of the Indian Constitution in which the arrangement of Social-Economic

justice are included, is —
(A) Part -3 (B) Part — 4
(€) Part—5 (D) Part—6 N

(iv) Wl s % e 3ese % smufa sfae v Sarsi % gom et s

TER -
(31) 3BT 300 (¥) 31985 312
(|) Ig=e 320 (3) 3% 328

The article of the Indian Constitution which has provision related to the creation of

All India Services, is —
(A) Article 300 (B) Article 312
(C) Article 320 (D) Article 328 1
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(v) _mmﬁmﬁ‘m’maﬁm%

(31) araTfs, i 3T TeHifds =
(q) 3R, Tt 3 s =
(9) e, AT 3R i =
(z) e, At M T =

The Preamble of the Indian Constitution contains the correct order of ‘justice’, is — -

(A) Social, Economic and Political
(B) Economic, Political and Social
(C) Political, Social and Economic

(D) Economic, Social and Political 1
(vi) e it o Fadae fpan Tt o sl it e g g ?

(1) 10T (@) 14fA

@) 21fa (=) 30fs

In how many days does the Rajya Sabh‘ﬁ has to return the ‘Money Bill’ to the Lok

Sabha ? & >

(A) 10 days P '-':;,’ (B) 14 days

(C) 21 days ,<’ft-f"ﬂ‘ (D) 30 days 1
(vii) 84§ﬁﬁmﬁmﬁuﬁrﬁnmzﬁwmmmw;ﬁﬁ? y

(37) 2022 () 2024 '

(|) 2026 (3) 2028

How long will the member numbers of Lok Sabha remaj

in

Constitutional Amendment ? unchanged by 84"

(A) 2022 (B) 2024

(C) 2026 (D) 2028

1

(viit) R 3TTH TG % WG TEEHA hi T IE 58 7

(31) 1977 @) 1967

3 iyl
(&) 1980 (7) 1984
After which general election the coalition poli:
politics ha gt
(A) 1977 B). 1963 ttics has starteq 9 )
(C) 1980 (D) 1984
1
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(ix) T Fomufmenag, awe

(31) W= (/) st
(|) et (3) swelvsg
- ‘LTTE’ is related to the country, is —

(A) France (B) Italy
(C) SriLanka (D) England

(x) faemm & foa mf=, gova 3 T e efmie et awiem 1 g fawg on, 9z

2
(31) =g | (9) 3 feeett
(|) ST (3) aewE

~ ‘Peace, sovereignty and solidarity for development’ is the main subject of which

nonaligned summit ?
(A) Badung (B) New Delhi

(C) Venezuela (D;}wgr@eﬁ@ Qf

w9 2 8 8 7 % I UH AR A E | .l

Write the answers of the questions 2 to 8 in one line.
2. wifed 9 561 § U A=l waTsd |

Write a difference between Power and Force.

3, uﬁﬁ#mnﬁméawﬁ@ﬁ*?ﬂﬁﬁl

Give a reason in favour of Political participation.

4, YT Py va st e stftesre e @ fa T 2

When was ‘the right to free and compulsékr:y‘ education’ implemented in India ?

T 3 T T 3 S <) e ferfad |

Write any two features of Unitary System in India.
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6. ‘W’Wﬁwmﬁmﬁ%ﬂmmmwnm?

By which Constitutional Amendment was the word ‘Integrity’ added to the Preamble of
the Indian Constitution ? 1

7.  HgH TP G 6 T F g ?

When was United Nations Organisation established ? Ay

8. ‘dﬂﬁa’mﬁé@ﬁl@ﬁ%@ﬂl

Write any one principle of ‘Panchsheel’. ' 1

T 9 | 11 T 6 Tedl T Toeh worm o1 ST, Ie-gfen 3 Ry |
Write the answer of the questions 9 to 11, fill in the blanks in the given answer book
r book.

9. =i 3 w1 e 1 AT |
&N\

NITI Aayog was formed on R
,-,_,;.':;!:f 1::) : 1
i

i
-

10. THAT A % ATAR GG B maﬁwﬁaﬁmmﬁm%mwél

According to tenth schedule a member of parliament is dismissed from memb hip if h
€rship if he

is found guilty of : %
11 %59 T % wed foae vt e s denfen d amr g
‘The dispute between the Center and the State’ comes under the L
the Supreme Court. —___ jurisdiction of
1
g - §
SECTION - B
12. 310 % “fereromenss =ma % we HfR |
Explain the ‘distributive justice’ of Aristotle. EOows v
2

13. mmmm%mﬁ‘mﬁwm%?%ﬁ
‘ quTsY |

Mining of pyjitical Culture ?

| g

According to your view, what is the role of ‘History” i dts
Clear in brief.
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14.

15,

16.

I,

18.

19,

20.

.
37 Tt Tt 3 ST 1 HETy AT € | $6eh ST o IS & A1 e |

- You consider the study of Political Culture is important. Write any two benefits of its

study. 1+1=2
FHITRERTY HTEI’ 1 AeTew 31 qarsd |
Write the meaning of ‘Revolutionary Movement” with example. 2 |

fifer 3 6y it afwe / FRfRE % de S Ea @ ¢ foled |

Who are the members of governing council of NITI Aayog ? Write. 2

AT TEUHIIAR THe Hee i w13 o Srard sarsd |
According to Constitutional provisions state any two qualifications of Member of
Parliament. 1+1=2

o o P e 3 e o 35 & A

Give any two reasons to adopt ‘N@%D%megz @jn SR o Policy. {+1=2

et feregy fife  onfRael wratfRe 6 Hfee = g8 § wrgs |

Clarify in brief the policy of ‘Peaceful Co-existence’ in Indian Foreign Policy. 2

wus -9
SECTION-C

sy § Tarifires Tug i B arel ar werd B § 11 39 HE % JER W
m%mwwﬂw%mm%mﬁammﬁaﬁﬁawﬁ%ﬁl

“There are many institutions which develop the political understanding of a person.” On
(he basis of this statement explain any two institutions as a tool of political socialization. 4

e/ OR
mwwﬁﬁgmﬂm%aﬁéaﬁwﬁﬁﬁéﬂmﬁﬁﬁl

According to your view, explain any two agencies of political participation.

[ Turn over
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21.

S5
(B

7 8
TATT FHE G S ) SIS § ? Y hIf |
Why is the environment c_'onservation necessary at the present time ? Explain.

3¥ET/ OR
T 1 J77Teieh = <hY TITaAT o fordt it sgawend snifara € 2 v R |

What arrangements are required for establishment of economic justice in India ? Explain.

(i) Hardn ST i g
(i) Taga = faemer wfaum
Explain the following features of Indian Constitution —

(i) Combination of Rigidity and Flexibility.

o
v

(ii) Largest Constitution of the World. | 2+2=4

_ FUG/OR G
e et wrreen % e it ) e i —
(i) Hfgem i wetea ‘ ;
iy Frorer s e =ETeiT
Explain the following elenients of Indian Federal System —

(i) Supremacy of the Constitution.

(ii) Impartial and Independent Judiciary.

I G % “Hriurierest 0 FrE=or s 6 faeem ifsy |

Explain the function of the Indian Parliament felatéd to “the control over the executive’.
AYET/ OR |

i AT % =rEnefie H ge o s e iy

Explain the removal procedure of judges of the Supreme Coyry

§5-11-Pol. Se.
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T ug - ¢
SECTION—D
e geiern & wrafa fom gl i gafea it wa afess s o i |
v et -fed
(#) 1018 gameA 1. fore =1 SATHR

(@) geatwie 3. TG EAH
(@) GraiEged 4 S

(@) 4oat@ged 3. el bl et IR FHT

Match the following lists related to the C

by deawinz w1808 Llst Sﬁw@@%

List — First
(A) 101* Amendmen!
(B) 44 Amendment
(C) 86" Amendment
(D) 615 Amendment
(E) 42m Amendment

t to educatlon
& 2‘@8 a‘g year of Franchise
3. Goods and Service Tax
4. Amendment in Preamble

5. Fundamental Right to property is abolished
3yEr/ OR

B : ganer afsRA
(=) s e a1 | fagis ot feufa
@ smeiss b .
. Wwﬁfaaﬁﬁamﬁr%ﬁﬁﬂmﬁmm
(@) ag=se360
forefar STTTARTCT
(]) 34333""333 ﬂﬂﬁﬁmﬁmmﬁﬁwmm
(A) 31g=da 3

onstitutional Amendments and write the answer

m@aﬁnq\%ﬁaﬁgﬁﬁaa&ﬁ?}qﬁmmsﬁiaﬁﬁ] |

| Turn over
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Match the following lists related to the Constitutional articles and write the answer by

drawing a table.

List — First

Atticle 352
Article 356
(C) Article 360
(D) Article 368
(E) Article 335

A)
B)

" List — Second
Procedure of Amendment in the Constitution

External aggression or armed rebellion.

. Reservation in services for SC and ST.

E 4

Financial emergency

bl

Emergency due to failure of Constltutlonal
Machmery in the State. 5

25. ST TR T I W St Fer gfeit =n gifor Hiord e aforee ammem 3o &Ry |

L
(31) 1956
@) 1967
@) 1960
() 1965
@) 1962

L
2
3.
4

5.

YR
URA-= I

W91 35 |
I T I | S S

Match the following lists related to International mcndents and their tlme and wnte the

answer drawing a table.

Year
1956
1967
(C) 1960
(D) 1965
(E) 1962

(A)
(B)

Al

Incidelit
Indo-China War
Crisis of Suez Canal
Indo-Pak War
Arab Israeli War _
Indus Water Agreement R 5

SYAI/OR: 2 FE AT

gl T FE % 3T 3 T T 7% U - e bt =1é et fvers iR |

Draw a chart and express the names of the organs of the United Nations and their | ”é

funCﬁOn-
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11
LR
SECTION -E

26. m%ﬁﬁamaﬁmﬁﬁﬁl

Explain the various kinds of Liberty.
J1yEr/ OR
T T G H Ty Y e AIRe |

Explain the rélationship between Liberty and Equality.
AYET/ OR

| FATT T 37 AT B 3 ST et St R AR |

Explain the meaning and basic elements of Equality

T 3 o 1 el e g st Srrawerhar <6 e FIRR |
Explain the meaning and necessity of Planning in India.
JYAT/ OR |

Terere AT % YTl Y fde iR

Explain the effects of ‘Global Warmmg
- AYET/OR .

et ) Sy B @ AR |

Explain the achievements of Globalization.

et TR 3 TR i st fope o v e & 7 R AR

Discuss in what way the role of caste is seen in Indian Politics.
AYFT/ OR

G qHEr 3 Hrvit hi faaen Hif | |
Explain the causes of the problem of Communalism.
FYar/ OR

nﬁﬁ%mﬁwaﬁﬂﬁ%%ﬁmaﬁmﬁﬁﬁl

Explain the steps to control the Criminalization of Politics.
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